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(Fo.025,1,9 =17.21, I:0.025,1,10 =6.94, |:0.025,2,10 =5.48, I:0.05,1,10 =4.96, |:0.05,1,9 =5.12,
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OFWRX = (Xg, Xp, Xg)| 22 SR Y(X) = By + BiXy + BoXo + PaXa+ € » BT (124)
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BAFEIIILT X, X, X3 2 40 B 4EL (correlation matrix )

1.00 094 0.35
R={094 1.00 0.03
0.35 0.03 1.00

O FRT & f L g % B T)S (variance inflation factors, VIF) z & -
(10 #)
@ X B E_F 5 s (multicollinearity ) ? % 7 + & > & = 1+ #HA5 @
FE? (10 4)
E)x=>TH%REHELs 7L (ANOVA table) - (10 % )

% & (Source) - = 4o(SS) p d & (df) 322 (MS) F
% &l% ( Regression ) 202.59
X1 183.92
Xo|X1 0.42
X3|X1, Xo 9.25
%4 (Error) 28.79
% 4r (Total) 231.38

() 7o =0.05 K BT 4 %X, X $H 2 M 792 5 B L F 1 e+ 2 (10 4)
T L Hy:fo=p0=0vs. S,#0 or B#0-
(FO.025,2,6 =1.26, |:0.025,2,7 =6.94, F0.05,2,6 =5.14, |:0.05,2,7 =4.74, to.025,2 =4.30,
to.025,7 = 2.365, o5 =2.92, lo.05 7 =1.895)



